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Is % bigger or smaller than a half?

Alison is a lorry driver. Last week she drove 256 miles. This week she
drove 211 miles. How many miles has she driven in total?

In mini bus, there are 6 rows of seats and 3 seats on each row. How
many people can sit in the minibus?

On Tuesday, Jack left the house at 8:10am to walk to school.
He arrived at school at 8:25am.
How many minutes did it take Jack to walk to school?

3.45, 3.56, 5.29.
In each of the numbers above the 5 is changes for a 9. If they were
ordered from smallest to biggest, which number would be in the middle?



